NCERT Solutions for Class 9 Sanskrit Shemushi
Chapter 6 Todl STc>:

S ENIIE

USat 2.

3reffesfadTaTt UsaTToiTa IACTOT HepaTyd fosard
(b) §Tes: el hifed foroforrar?

3de:

dTcs: gTS MBI AT A 31T Shifed forofara

(&) a1 fraTfor fosaref caediTurT 98d:?
3d¢:
ST fAATO] AT gITaeTTef caeTuIT §8]d:|

() AYDE: STAB I HTGTol ol DHIeulol of HTd?
3de:
ALY TTHD T HTGIol of 3T d Td: &: AELLIE T AT

(8 STcsch: ShlEel TShd] U d?
3dg:
JTc5ch o JUIRIBTRICDHATG TS Tedh | HTTd|

(%) dThh: TCh 1Y higalTef hieel Blaf gadTal?
3dd:
ST TTHTT TG ol HETBTBI ol GToTed B1af GTdTal |

@) & ooT: T h: YTof favd b A—TT?

3de:

& ool: §Tes b YToTH 3ch AT -3 ] 3if&dal forerafdad fob udefd?
U1 ftdesfdE ddsdles AT | 3(E T d 3Holey ShigTHEIT TeaTfH|

(®) faferddreiiees: d1es: fa o 3ifToddd?

3d¢:

fafeatdaratied: §Te: 3HfToddd-3ifEd ol vITfd Ui &a-eddp d forardol: arafd|
BIsfU 37Ef3ra ot dhTeseld of dAgd| 31d: 3rgafd galfad dwelfar.

ULl 3.

forgatfosfEded emdich e amaTef fgoa TeiToaT 3MeIcsamydT a7 fosard —

1 31 it nyafd garfdetl g aedl -

CeTfoT I NI ¢UTTooT AT i og ull|

3de:

aiTaTef fgoat & Uedd emich i oo A off dhd oUTcsol ot 8iTdelT 3ifaredch &1 I8 8l

o a a ﬁ a w n
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GTgl 38 Yo &b AT U AT g 31T I T UTcsel-UIvuT 311 8, I&1 3a 28l & ol
& dfores oft e T8t geolT ITfgd-gpd ot gefl 8iTacil & dTesch UaHTfad glche
faamegg st &t 3ile 3Pt gidT &

UL 4.

“ofToTll 95 gfd I eTaT: TSl el fEeaTamydT sTsve Ty a7 fesardl.

3dd:

BT BT ATl el (fEo] H)-Tdh 8iod dTchch UTG 2T, UiTal b HTd Hcsal b fST TS
TgTI 3T 3Uat oo & oft Fesal 3Tl Dbl hgl fhog A ey viTal bl Heat o &
a faseft ot st IachT ITd of ATelTI IUdT A HATh e T Uge Idal 8ild & Hesol bl
el fdsog] 3eTal UerT dfodd dheel d 3Tl Ueddl IdTs| dd 3efel fUs i edifete
e T G ol T BB Ghe T sal bl hgl fhog Il off AT ToiTal b BT 3t
3Tt ITddT IdTdhe EHhal & Sohle B ST T 38l d & Bbal Bl Dl
P o aft TeMforaaT &b HTeUT UGt eddl e ol |

S UhT2 oIS ALY dTd I AT D of 3od A Tg Tl fovdT fob AT SIS ol
3fara orgli &eft siuel-31uat pTaT A oged g, 3id: 3 8t 3(UelT hdog (fAemurfed) ger
ol ITfet | daft & ag faaryrftd & gie 1T ag effe faaresd T IraT|

U 5.
RBUCTT G T TSI AU P dd

(b) EaTg ol e aaifol d qTTfdl
3d¢:
bieenfel sfegdaifel d erednfa|

(&) TCh: SIDb AT ZI: 3TeTd?
3de:
JCoh: hid ol oI: THT?
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(1) pape: ATSTETUTT A7 3ifed|
3dé:
e byl oI 3ifed?

(8 & Hgdt dget coeerdTod |
3dd:
& dieeff gt seeare?

() T TNTh TUITd AT of Yol Sfd|
3d¢:
D &HATd HAT of e sfd?

TS 6.

“Tda: o - 3fd ICTECUTHIG T oTa1: s I Tq AT faerch: Tor T
ToddTeRITf ol Taad|

3dd:

1. 9[2d of :l|

2. {7 T4

3. 31T STt

4. ATH oTH:|

5. felf &1 ol

ULal 7.

h’ TN AAEAUG (ol ‘&’ &dd I Ayl f[dUg: gdrfel, drfel Taraaef fosad-
h’ T — W EdFH

(h) UL — 1. TTUTTSH I&ToTd]
(&) GedohGTdT: — 2. fAemdT: e
(1) fagTed &l — 3. €8¢ UoRIT:

(81 TSTEIToTH — 4. GeddhToll GTaT:
3d¢:

h’ T — W’ T

(h) EfSCTSH — 1. E&: TR

(B) GEdBCTdT: — 2. GEd b ol GTdT:
N fagTeadet — 3. fAaTdT: LTl
(&) QSITETSTd — 4. TITOTTSH J&ToTa

Yol 7.

() HENFSHAY TS IAY Th fdeIsgucd 3ugod faelvurued| faerurae s
faersgue g gergs-geres fraar fosarg

3de:
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fasteory  fastsy

(i = T = fg=: qra:

(i) TEREET] @EE - RRELIRL GRS IN L

(iii) Wa: Fre: = e qTA®:

(iv) T TegEwaan LS ICAL TEIHIAT

(v) M T e R o )
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